SH55E7A FREEHMEEIE TR PR B o 2 —
3B (A) 4H (K) 58 (JK) = 6H (XK) TR (£)  de/hFmERRSL
BRE | —AD| #BE BRZ |[—A\p| #®E BRE =A% BRZ |—A\p| #®E BRZ || #BE | #E
ZixA 0 ZlFA Z586A =D lAIAW] HhoHIIFA
e, smfb K 0 . sfbk L [hs INEZL AT K sflk
0 typ0E BEYLY r DT EADR 2] 38
WEEORYRE FoovyAA—R B)F AR 0508 1 AL F—20g 2] 2230
VW727250g 1] 1120 I 1 1.8 T RHRF0E85g 1 A F—30g 2] 1150 BADOLEVYY—R
VWR7ET0g 1 630 EAHEDY B 45 87 Hie A 50g 1| 1120
(Lxovp, 8 LEHAs 0.3 0.6 BRLeSAYS5 2)—y3a—45 Lk e 1P160g 1| 580
HOA, =) ZiRbE 1.5 2.7 R ERHY LA 20 B ay TG 30 54 TS, 4 7.5
i 0.5 0.9 b 1 Ay ay ST 30 54 B
BT Zub 2.5 4.8 PERYS 3 HRWHD 5 9 HYA 1 1.8
i 1 1.8 D THv 10 18 = IRbE 0.6 M — 27 )L~ 20 40 = iRbE 2 3.5
KOEA 15 30 Ll 5 9 ZFiH 2 Ak 1 2 S5 2.7 5
IZACA 10 18 Py 10 18 Z—1il 0.2 LEUY 1.8 3
EhE 20 39 avAy!) 10 18 Ty 30 LERERTFDR—T RTMFSH
lANc R 20 39 FARE—I—A 1.5 2.4 Z¥HY 10 Hiehal 20 39 Lo 30 54
SRVAT A 5 9 NE-PN 0.3 0.5 IZACA 10 b 1 1.8 IZACA 5 9
—iRpE 1.4 2.7 PRV NS 1 R4=1)) 1 1.8 Xl 15 27
b} 0.5 0.9 LOLDFT LI IZACA 10 18 v 5 9
B 1 1.8 HRL 40 75 85 E5HAH EhE 20 39 /Ty =4 6.5 12
BT 4 7.5 THY 10 18 JEHIY 3 J b= 15 27 i 0.05|  0.09
HE-FN 0.3 0.5 IZACA 5 9 LB AR 0.5 _PH 3 6 HZLxH 0.02] 0.036
SRS 1 hE 3 | BLLH 10 Fxo A3 5 9 ABCR—7
MEELEFHT ZEM 0.5 d g x5 | ICALA 10 AN 5} 3 5.7 iH 0.5 0.9
JEHIY 3 6 i) 0.2 0 xEm ADEIT 10 i) 0.2| 0.36 R—zy 5 9
IZACA 10 18 PERSS 2 3 A EEn 30 EN) 0.01] 0.018 IZAiz< 0.2 0.3
LU 10 18 FLFR—T BIRBLATGAA 10 LB 15 36 IZACA 10 18
[E<E 20 39 Kz ER 20 39 0 A 0.5 ) 0.5 0.9 LU 10 18
NELRLVLLD 30 60 b 1 1.8 i 0.6 Y 30 54
b} 1 1.8 WA CA 10 18 29<b 10 ABCvhm= 4 8
% 0.4| 0.75 J AN 20 39 i 1 _ROFY 3 6
9<H 4 7.5 TFLWT 0.5 1 h& 5 FxL T A2 5 9
BolE 5 9 EEETVa 8 15 v Xh 3 5.4
IZ5 5 9 i) 0.2| 0.36
_PEY 3 6 HILXD 0.01] 0.018
FX T Aa 5 9 45—
Wb/ | 3/0.1]5.4/0.018 LB | 1| 1685
<Kt > <> <Kok > < 2gH|> < KAk > <R > 2% > <R N~_ <>
MiFE | 223 iR | 222 WIFE | 222 MR | 222 W | | 3L B0 XS FMEMA
N 189 /N 190 BN 190 /M| 189 W | Yoo
Je/h| 581 b/ | 580 Je/h| 581 b/ | 581 b/ 581
B4k | 100 B4k | 100 BAdE | 100 CiEls 89| 54 Ak | 102
B | 201 1110 s+ B | 200 1109 g+7| A B | 146) 24F AP | 146] 24F 1098 A+ A B | 146 24F 1110 M+
e | 388 623 i+ T Jed | 388 622 Hx+¥ e | 388 e | 389 567 i+ T Jed | 388 568 i+ T
vuh—| 23 1733 &% vup—| 23 1731 A& rua—| 21 uh—| 21 1665 AFt up—| 23 1678 A7t
T 28 Ha T | 28 A Tl 28 T 28 A TiE | 28 HE 1860




THISEE7 A FHia B BB R Fig R gt A

10H(A) 118 ) 128 (k) 13H (K) 148 (£)
BR2Z  |—Ap| #BE | @#E BRZ |-\ #BE | #E BRZ  |—An| #BE | &= BREZ A #E | #E BRZ || BE | BE

ZIxA (BEHOH) ZIFA (BLEOH) F—Av ZIFA (BSOH) ZlFA

ke, Bk ke, B L [z x5 || K #ikk K, BRI K —

BEFy—a1—"Z2—"T7— | nz |

=&%ZF3 BD<hiEE BEXI50g 1 1120 SFEOHEE ADEAVTFHD M
i 1 1.8 HHH50g 1| 1080 BEXK60g 1 630 S1F50g 1| 1090 ZDOEATF 508 1| 1070
LIon 0.5 0.9 HHHT0g 1 630 SIE70g 1 640 ZDOEATF P 60g 1 630

KOEA 20 36 G, B A HS2IL 554 Lo 2 3.6 BT
BHOEH 20 36 LIHD3, 12Aizl) ry Y 3 6 ZiEpE 5 9

REDHE (T 4 8 a— AR —F 0.7 1.4 Fop Y 30 57 b 2 3.6 EEEHA—

WA ED 10 18 ThAEA 0.7 1.4 7 aya)— 10 18 Bz 2.5 4.8 i 1 1.8
JLUE]) 20 36 a— 5 9 AN 5} 3 5.7 KZEA 40 75
ZIRpE 1.5 2.7 FHZEAUL it 1 1.8 B A 2 3.6 L1573 0.3 0.6

i# 0.5 0.9 & 1 1.8 H-Lp) 0.01] 0.018 7K 8 15 [ZAizl 0.3 0.6
F0 A 0.5 0.9 1 D) 25 45 53 1 1.8 EhE 30 57
ZvKh 3.5 6.6 IZALA 15 27 —abE 0.2] 0.36 whUHZ F=AIT— 10 18

nAZAWE LS 5 9 i 0.3 0.6 Ty 40 75 A 10 18

EeayS55 SoFbhiT 10 18 NESPTA 5 9 g b 20 36

Fp Y 30 57 DEIN 15 30 LESWS5—ALR—T IZACA 10 18 BAEED 5 9
Z¥pHY 15 27 —iRE 1.5 2.7 ZTL 3 6 P 0.6 1.2 Hvhbh=h 20 36
IZA LA 5 9 i 1 1.8 HHH A 10 18 =AU NES 1 2 DA a—L 2 3

FHEEHDY 0.2 0.3 B0 A 1 1.8 i 1 1.8 i 0.1, 0.18 TF Xy 3 6

/Ty <4 8 15 Zv<h 3 5.7 Lo 0.2 0.3 L2 0.3 0.6 Ry — 1.5 2.7

PERSS 0.5 0.9 SRV A 5 9 lzAiz 0.2 0.3 KDL — L 13 24
ELAVNES 1 2 eEh& 10 18 {IKR—=F B —y 0.1] 0.18

FEELEEEDR—T \ZA LA 10 18 Y 3 6 HZ b 0.01] 0.018
JEHIY 3 6 FoRYDAHET HRL 30 57 WA A 10 18
HiesaA 10 18 ZTL 3 6 Hk 10 18 ZDET 10 18 a—24545

b} 1 1.8 Ll 10 18 Zu<h 2 3.6 BN EIED 15 27 o=y 5 9
IZACA 10 18 ez 10 5 9 i 0.4 0.75 H9< 10 18 Y 30 57

ADET 10 18 Fp Y 40 75 HZLxd 0.02] 0.03 PERSZ 4 7.5 IZACA 5 9
A 30 57 BE 70 135 BT — AL A—T 8 15 i 0.4 0.75 Pl 15 27
PERS5) 4 7.5 D 0.5 1 FU YA 5 9 hE 5 9 45 1.5 2.7

i) 0.4| 0.75 nE 5 9 I__L'I i 1 1.8
“Eoh 10 18 your L= | e 0.3 06
7Lk 1] 1700 ENS 0.01] 0.018
<R > <5 E > <R > <EEHI> <R > <%HE > <RER> <% E > <R > <EEH>
PR | 223 BmE | 222 PHRE | 222 B | 222 A PR | 180] 54
A BN 152] 34E /N 190 BN 190 A BN 152] 44F BN | 189

e/ | 580 Al db/ | 545 T FH-34 Je/h | 580 b/ | 580 b/ | 580
B4k | 100 B4k | 100 BAdE | 100 BAdE | 100 INRE 92| S54E
B | 201 1072 A+ B | 200 1074 5+ B | 200 1109 s+ ¥+ B | 200 1071 A+ B | 200 1058 /M +T
e | 388 623 HE+T Jed | 388 622 Hx+¥ e | 388 620 Hge+T Jed | 389 623 Hx+T Jed | 388 622 diigk+ T

vuh—| 23 1695 A&t vup—| 23 1696 AFt Y- 21 1729 A&t uh—| 23 1694 A7t up—| 23 1680 A&t
T 28 #1890 | | 28 ¥ 1890 | Tl 28 Wi 1920 | P 28 W 1890 | | 28 HE 1890




SHMSEET7A FRHIG B AL R FiE yEt M
178 (A) 188 () 198 (OK) 20H (K) 218 (%)
BRE AN #BE  BE] BEE |[—AH| HE | BE BRZ  |—An| #BE | &= BREZ A #E | #E BRA | —Ap #BE | BE
0 / ZlA A (m e | 7A A
o /| kosmfbk k. Bk [ x= | K BRALK
o / nyvaRyr T
o / MRETE BRO/NA—_F1—Y—X e A 1| 1120 REOTIR—X$E
ol / NS 1 1.8 1 P50g 1] 1120 B A 2| 1250 R¥50g 1 350
0/ FOXP 30 57 5 70g 1l 630 R¥10g 1 630
0 2 Az 0.5 0.9 (. AZLL)) BEYSS (., AZLEY)
I LI 0.5 0.9 TASA 5 9 Fp Y 30 57 mEhE 5 6
A EhE 20 39 B g7 oyay— 10 18 v Ty /<3 10
/0 =i 1 1.8 mEnE 2 4 AL A 5 9 W7 1 970
/0 i 1 1.8 LEHns 0.1 0.2 BZTIED 5 9
/ 0 Zuh N Izl 0.1 0.2 L3 1 1.8
/ o Bz 45| 8.4 DATE2—L 5 10 FU—7 i 1 2 WAITADTEHZ
0 DA 0.2] 0.36 13540 0.5 1 i 03] 06 ERVAT A 5 6
0 T 40 75 b 1 2 B 19 0.01] 0.018 HHLEW 40 46
/ 0 5 3 6 ENES 0.01] 0.018 ICALA 5 6
/ 0 TASA 1| 1.8 e R 02 05 ITEVR—F MBI FIED 5 6
/ 0 INH— 1| 135 B 15| 1.6
/ 0 F—AXY55 B#bi FaTehap 15 27 b 2l 24
/ 0 Fp Y 30 57 1oL 35 63 Fh¥ 40 75 ERRES 3 3
/ 0 x5 15 21 EESY) 15 21 UniE b 20| 39
0 R —y 5 9 IZACA 5 9 NEFLR =R 20 39 Bt
/ 0 8mmF— <X 5 9 AR 1.5 3 e 1 2 #HTL 3 4
/ 0 B/ 1/1.]1.8/1.8 29 <H 0.5 0.9 b Sl 4 9 Bz ER 20 24
/ 0 /B2l xd [0.3/0.010.54/.018 47 30 60 ] 1 1
/ 0 hhdOR—F BYTEOHET H 0.4] 0.75 FINED) 10 12
/ 0 ICAUA 10 18 HTL 3 6 S 0.02] 0.03 SXZA 10 12
/ 0 [Z<EN 40 76 IZALA 10 18 IZALA 10 12
/ 0 Lol 10 18 mFnE 30 57 WETUv L EnE 20 24
/ 0 RUFY 3 6 ZDXT=S 10 18 WEI Vv A 1| 1740 FEoFN 20 24
/ 0 F¥ T A 5 9 Bz 71 135 B 7 8
/ 0 “uh 3] 5.7 “Eok 10 18 hE 5 6
/ 0 i 0.2] 0.36 Y U 3 6
/ 0 EN ) 0.01] 0.018
0 bintd 0.5 1
0 h& 5 9
<R > <LEI> <R > <EEHI> <KEK> <LE> <RER> <%EEI> <R > <EEH>
B3l A| B | 186] 54F PHRE | 222 PR | 222 PHEE | 222
BN /N 190 BN 190 /M| 189 x| BN 0 =
e/ Jb/N| 579 b/ 580 Jb/v| 580 x| desh 0] 4
CiEe A AdE 91| 54 BRAE | 100 BAdE | 100 BRdE | 102
Gk 17 M+ 7 B | 200 1063 1+ B | 200 1109 s+ ¥+ B | 200 1108 1+ 7 B | 200 341 g+ T
b 34 g+ deH | 388 622 i+ T e ] 388 622 %+ T e | 389 621 ig+¥ deH | 388 622 diigk+ T
vuh—| 23 51 &t Yuh—| 23 1685 &t Yvh-| 23 1731 &t - 21 1729 &t Yvh—| 23 963 &t
Tl 28 B 0| | Tfii| 28 #1890 | Pl 28 gl 1920 | P 28 o 19200 | P 28 HE 1160




